
Cruzamento da variável Partido votado com a variável Intenção de voto 

Cenário 1 

Partido votado/Intenção de 
voto 

PSD/CDS – 
Ribau 

Esteves 

PS – Eduardo 
Feio 

CDU – 
Miguel 
Viegas 

BE –Nelson 
Peralta 

PNR-Vítor 
Ramalho 

Voto 
branco ou 

nulo 

Não 
sabe 

Não 
responde 

TOTAL 

Élio Maia (PSD/CDS-PP) 58,28% 2,65% 0,00% 0,66% 0,00% 7,95% 18,54% 11,92% 100,00% 

José da Cruz Costa (PS) 14,29% 50,00% 0,00% 4,76% 0,00% 7,14% 16,67% 7,14% 100,0% 

António Moreira (CDU) 20,0% 60,0% 20,0% 0,0% 0,0% 0,0% 0,0% 0,0% 100,0% 

Catarina Gomes (BE) 66,7% 0,0% 0,0% 33,3% 0,0% 0,0% 0,0% 0,0% 100,0% 

Voto branco ou nulo 30,4% 13,0% 0,0% 0,0% 0,0% 30,4% 13,0% 13,0% 100,0% 

 

Cenário 2 

Partido votado/Intenção de 
voto 

PSD/CDS 
– Ribau 
Esteves 

PS – 
Eduardo 

Feio 

CDU – 
Miguel 
Viegas 

BE –
Nelson 
Peralta 

PNR-Vítor 
Ramalho 

Élio Maia 
(Candidato 
independen

te) 

Voto 
branco 

ou 
nulo 

Não 
sabe 

Não 
responde 

TOTAL 

Élio Maia(PSD/CDS-PP) 53,64% 2,65% 0,00% 0,66% 0,00% 10,60% 6,62% 13,91% 11,92% 100,00% 

José da Cruz Costa (PS) 14,29% 45,24% 0,00% 4,76% 0,00% 2,38% 7,14% 19,05% 7,14% 100,0% 

António Moreira (CDU) 20,0% 60,0% 20,0% 0,0% 0,0% 0,0% 0,0% 0,0% 0,0% 100,0% 

Catarina Gomes (BE) 66,7% 0,0% 0,0% 33,3% 0,0% 0,0% 0,0% 0,0% 0,0% 100,0% 

Voto branco ou nulo 26,1% 13,0% 0,0% 0,0% 0,0% 0,0% 30,4% 17,4% 13,0% 100,0% 

 


